FI0ERE REELEE Rk EF X T [24072003]) b2y =
U Sk L [73150] o "
2024/05/10 ~ 2024/05/12 BT EENE %
B ok B W E %
N U %
Eo& = AT A
EL i 17 27 3T 4T 5 67 2 8hr
SALLA H+100m NG 1124 —i0(2) 1125/t W5(2) 11.46(%& 1HFE3) 11.59(80A I (2) 11.67[ & #EKEQ) 1L.71|#iE %K) 11.76| )8\ &7©2) 11.77
A 2.4 RN e PFARYA ST B AN RS EHEIR EHEIR
5A 120 5+-200m hik —0@) 224110 MEA(3) 22,62V OEHE(1) 22.83 (D EL2) 23.09|% {HFEQR) 23.48 | JEH] KA (2) 23.54 (8 HEXQ) 23.55
JE:+0.7 e RN PR A SHET ST EHFR Hikap
SA10R 5 7400m EiE ASE3) 49.99] )11 KER(3) 50.44 (L0 BEiE(2) 50.89 [ FIK(2) 51.07 [{H JOHE(3) 51.32 [/ bk Z22HE(3) 51.7T4[f6A E£E(2) 52.02
RN at ST AHT e ek ST Eted
58120 5 7-800m IEE BI3) 1:56.55 [ )11 BEAH(3) 1:57.24 (el KE(2) 1:57.68|EH BBHH(2) 1:58.07| % 0 #%(3) 1:58.20 [R5 K (2) 2:01.92| P A1) 2:04.00[BtE Be(3) 2:04.30
% DHEE SHET Eted B B P A SHEEIRL
SA10R 5 41500m I BEF() 4:07. 11 FH50) 4:07.20 /M1 ZBL(3) 4:09.18 [V B3HH(2) 4:09.86 [FHH 1K (2) 4:12.39[HeiE K #(2) 4:14.19[WEm - RBHG) 4:14.64[75 8 BH3) 4:16.18
DEER B S Eeted FA_UA ST S %
sA12R V4.5 7-3000m 3PN 9:15.87|REMH SEHE(1) 9:27.15 =2 ERE(1) 9:37.07|Veik BEpk(1) 10:02.07 1A BEZR(1) 10:12.65|4x 1 4HZF(1) 10:18.68| K7 fig~F(1) 10:23. 773011 Z2E.(1) 10:33.51
DHEE FAUA S S SHEEIRL FA_UA FAYA SHEEIRL
5HLLA 5 75000m R FI2E3) 15:26.62| K3 45 K1) 15:33.10| %8 F#k(3) 15:34. 134 A1) 15:37.95| 38 fEAE(3) 16:13.69| 5 B K(1) 16:20.67|[E 7y 15K (Q) 16:38.32[ 7 1 fLRA2) 16:49.15
RET PR ® SHFR EHFR EHFR Eaes P A
sAE|  BruomHLeT) |G BEEG) 14.67[ 122 f{=(2) 1591 iR (2) 174780 AR 15E(@3) 17.72|83% XD 18.61 |l HREEA(2) 18.70( 137 (1) 19.92
A 2.1 DHEE GR /\@%J%k ST AHT T EHFR #E)h
sALE| B rdoombooram |R0N EAREE) 55.25| B8 B5=H(2) 57.63H F&E FHIKEG) 59.70| A +:[(2) 1:01.22|Jefe 28 —ER(2) 1:01.65[ B #B0(1) 1:05.22 P50 KA(1) 1:05.29
) e S SHT St AT SHFE FA_YA
stz 9 raooomscooram |0 ZH3) 9:47.16|FHH  HiF K (2) 9:57.08 | ANAII2) 10:11.37[%A  KFn(1) 10:28. 14[[JF - KA(3) 10:33.61(F 1L F2ifi(2) 10:48.70{#5A 1% -}(3) 10:51.35| bk TRFRE) 11:08.65
) e FAUA FAYA FAYA S Eted SHFR SHEEIRL
5H10R 5 7-5000mW Pk A1) 22:52.20| K #RE(2) 22:55.00 | B f&45H(3) 23:10.90 [#2 )11 HiiAiv (3) 23:52.18[HL J5(2) 28:11.00|JHiE  Z&ak(2) 29:13.44
FERNRE 42. 74| R A 43.04| B HER 43.25| BT 43.35| &7 43.38| 8% Jr ikt 45. 71| & HEE [ 47.64])1117 49.68
it AE3) A NI KA K E3) INBR - Z2E(3) AR () it ) HE B Q) B R0
5A10H 5 F4X100mR e mEA(3) S EEA(L) R A7 (2) B ERER) VeRE Z2mk(3) W KHH3) /bR PR Y(3) HEEiaE = E))
2 ERQ) R EAG) BIR B5=HQ2) Ve BARE2) LifE HE®G) Vel R (3) X BERK(3) K FEQ)
i #((3) AR IE(2) Eiff B 1(3) e Bit2) 7 N ¢) R BEAKB) A R0 el = MR LA 0))
SHEIE 45.38|#FRAPE 48.52| AT 48.60| &7 1:07.75
B #() N (1) HAR ZEIRER(L) e BE)
5A10H V5 -4X100mR R FEZB(D Bl RKEQ) ) AL
WL AR SN 2R Bl Q) SR A822(1)
ARl B B JkiEE(1) It b @) JniE B E)
ST 3:22.53| & 3:23.90| &I 3:27.40 | RV A 3:29.37|H kA RS 3:31.01| 8- 2 Jr Mkt 3:37.43| 8% )7 3:48.16 | & [ 3:57.37
INBR - ZEHE(3) A £EQ) BIR B5=HQ2) [EZA NI 2 OEXEQ W KIH3) BRI k(1) HE B Q)
5A12H 53 F-4X400mR IeF AR Liff HiE3) dr)l BER(3) JEE ER3) it AR (3) i BER) AL SHE(2) X BEE(3)
Ve K2) VLRS- 1I6)) a2k f{(2) W B BE AEG) B K@G) G HER(3) INBR P R(3)
W B(2) )1 % KER(3) tfs BE4(3) it PN®) TSI ING)) [ PN E)) IS PNE) A B552)
5A 126 57 LA ING) Im81|WEER K (2) 1m70|BE 1L SEEA(2) 1m60 | iEE  KFH(L) 1m55| 28 H2k(1) 1m45
#;Uﬁ ASHT SHEIR SHEIR SET
5 - i FH2) 3mb50[ L FE2H(2) 2m50
5A11H BBk v ra e
5H10H e R Ve aLEEQ)  6ma9G2.H)|EIE ER3)  6m27(+1.7) *% EE(B) 6m22(-0.2)|fi[7 ()  6moTHO.D[HEE FHAEG)  6m05+2.3)[iE #H(©2) 5m82(+0.4)|ILA ZR(©2)  5m70(+0.1)| B Fi# FHAB)  5m68(+0.8)
T AROmATC0.6)| P YA AU FHARG Lsm00:0.8)|[ Y A o pE ST
SA1LH 57 ik M BRAE)  14m06(+3.9)[#EE 5LFE(Q2)  13m60(+4.0) ﬁmnj ﬂ’—fu(l) 12m65(+2.9)| KJE WETL(2)  12m33(+3.7)| 75 #E4E(B3)  12m08(+1.4)[ B HAR)  1m73GLY[ILA #I5Q2)  11m09(-0.3)|5#F X BEHKB)  10m89(+2.4)
i A ZA#R14m00(+0.1) [ £ HE T ZAR12m51(-2.2) [~ A AR 1Im89(-2.0)| 3 T ARImST(-1.4)| 3 T RN SR Bl /AR10m65(+0.6)
5108 9 FRALEG6.000ke) g FEER(3) 12m88 | (3) 1m81|HEA F$5(3) Hm79|feik & 2H(1) 10m86 | W H H:A£(3) 8m88|IEAK e (2) Tm87| R K(3) Tm81| K5 Hill(2) 5m78
) Ee FkApE FAUA FAYA FA_YA JIA b ki1 S ki1l
T T (= = 35mA46 | FE RS E—(Q) 31m64|iE I HA(3) 31m20|Fk L HHK(B) 3ImOL|EA FF53) 30m67| L HEEES) 30m18|gnA HHEEL(3) 30mO02| LB HEK(3) 28m85
N /\JZL PYA RN =Eh PARYA SHEIR S P HE
5A10H| 57, ~—#6.000ke) SR HEEE(3) 44m25[ 7w BaYE—©) 36m35[MA 155 3) 33m82[/E AHE(2) 32m93[HAA FHE(2) 32m39[FefiE = =F(1) 21m27[#EE  FHFQ) 17m64| K35 5HiLl(2) 13m39
: i ES: FAUA FAUA xzi;a% S FA_YA S ki1 2% 5 Kkt
A 120 R0 EE000) RN KA (3) 54m98 [JL B fEA(3) 49m64| Il $54(3) 46m95 [ Eiff BR(3) 45mO3 |1 BHEER) 42m81 % H FHIKEB) 42mO07 (AL #I(2) 40m47 [Tk FEER) 37m83
= Hﬂ%«i FNES S S [RZEN =1 Jia
il BRt(3) 56155 (A FAQ) 47955,
54100 7B ESe =iy GR,NPH|#~JA
~11H ) 10.96(0.0)-7m06(-0.5)-11m97-51.68  |11.57(0.0)-6m07(~0.2)-9m14-51.80
14.93(-0.7)-41m51-1m90-5:04.05  [17.48(-0.7)-39m22-1m90-4:58.75
Brhovs S 10854 |2 T 875 | IR 1T [ ~UA 58,5 | £ kAR 4045 % 335 | B % 5 Kkt 1045 [ ST R TR
IERREES BT 4—IE P A 878 [ T 125 | B R B 27 | 2L 275 | S AR 135 rE 2 LR =2 05 ik 641
BRE P 1528 & 1424858 T 1295 [ & E R 1125 [ B 674 [%% 335 % 5 Kkt 1658 | S H bR i

AU GR:KRZ

FCfk NPH: Iiif ﬂfmﬁ



BIOERE B REEFRAEET RS E LFESEMX T2 [24072003] N7y R
B Sk LBt [73150] W R
2024/05/10 ~ 2024/05/12 BT xHHE
B ok B W E
N U
Eo& = Tkt 2
HiF A 17 2 3L AT 5L 6L T 8L
SALLA #+-100m W O772(3) 13.06| 3 #3(3) 13.12]76 1 £« @G) 13.14| k% THH2) 13.26[10 LEQR) 13.54 1tk HLHEER) 13.62|#Ex K 722(2) 13.74
J&:-0.9 i PR %% = Eae =2E)7 S
sA12A #+-200m 26.62[ 110 OVe7=(3) 26.94 |73 % FKE) 27.00|%5H Q) 27.38[ 10 LE2) 27.50 |1k HLAES®G) 28.21 |4 HA(1) 28.30|fh % A 722>(2) 28.49
1.0 E # Eae Eates =E) SHEIRL %
5A10A L F400m 1:00.62|HliE #8H(2) 1:00.80(f &5 £475(3) LOLIO[IL A DE(2) 1:01.66| ik HkEHE3) 1:05.12 (0B S2P(1) 1:06.22
DHEE P A =EH PR A
sH12A 7 500m 2:15.72 8] HF(3) 2:17.68|# bk FHA(D) 2:18.23 2:25.87[85A k(1) 2:28. 75| I #EBHk(1) 2:29.46 | ZE3R A A(3) 2:38.53
GR[&H GR|&HS R PR A P A %
5H10R L 1500m ﬂ* EEG)) 4:51.75[58H1  HF(3) 4:53.12 (8 AR Lag(D) 5:02.17 ﬁﬁk m*(l) 5:04.60[ 8 AFL(3) 5:05.28[JITH &EHk(1) 5:06.29 fﬁ? LE A (2) 5:11.46[ B BA3EG) 5:19.51
) EHFR at FA_UA PR A A FAYA PR SHEEIRL
5120 J£3000m A LE() 10:49.35(154 Hnia(2) 11:24.34(F8 AHL3) 11:26.83 |34k L (2) 11:49.67| 751 H(2) 12:08.71 | 0EQ) 12:15.54 12:26.37| @G A (1) 15:27.38
) PR DHEA Eatad SR EHFR PR A %
sAlzn| K F100mHO.838m) (DR PR 16.34( K5 H&HQ) 16.49[35 K FH-L3) 17.08| (4 LoAEQ2) 17.59] /Mt ka2 H.(2) 17.72| 50 SEREQ2) 19.98 /J J? & H(2> 20.03 547 HF3) 20.30
J8:70.5 % DHER % Eates SHCEIRL EHFR F_YA T
5ALLA LT a00m0.62m) | A 1-(2) 1:06.05f &5 £75(3) 1:06.85 757k ZE4(3) 1:10.90| E58 HZ&(2) 111755 £72E03) L13.94(FLIl Biix {E2) 1:15.07| P Z24(3) 1:16.04
) EHFR FAUA # - SHFR B PR A A RS
- WX HRIFISE(2) 30:21.64| 451 BEE(2) 34:26.25|mfE A1) 38:04.44
5H10H 2c$-5000mW ‘UE’\\‘UZV ‘UE’\\‘UZV %
D 49.86 | VA 50.93 | AR 51.18]%& 52.50 | AP 54.44 [#5F2 P 54.90
Kz THH2) faks BEH(3) HHE (L) Per K 722(2) B ARG ZE EA(2)
5A10H #F-4X100mR IH 0v7272(3) Ve 1HB2) IHB WA (3) FEHI FFKE3) T4 DiR©2) Bk D)
A DE2) i BH(2) EPE Hh#E12) IR BRAD(2) T4 SRHTREQ) R Av2E(3)
B EEQR) PEH Q) R BAEQ) B BEATD(2) AN 400 PEHR Z235(3)
DR 54.31 [~V 58.99
Ve F#i+-(1) N ZRIL(1)
5H10R 1454 1-4X100mR INAESRAEQD g FEEQ)
Vel API(1) IR0
Kifs Q) B FEPWD
SR 4:04.51| & 4:05.85 | ~UA 4:14.66 | #5FapE 4:32.30|%% 4:35.11 | & 4:48.72
Wis HH2) [INR= N =65} HE BH(2) =B EA(2) xR 72o(2) B BANEG)
5A12H 2 F-4X400mR 2 O#DLG3) B AFNE) W FEE) SR A2E3) S AARR) T4 SRHREQ)
TR WA (3) i UR(3) VeRE YDHB(2) WD Z223(3) SN BRAD(2) T4 DaR©2)
=7 hF(2) B EEER) e BHG) Bk LHEQ) B R ACTD(2) AN 400
sA108 A TR FIE() o[k Pik() 1m30[/NR & (2) 1m30[3hA #1% 3K(2) 1m25
# YA YAUA YA
s - AR FR2) 2m20 |4 S Kk (3) 2m20 | Bl AH(2) 2m00
5A11H L TR #«)7& o Py
5A1LA LB Pk DI  5m30(H0.5)[IFEF WRAF(3)  Am83(+0.6)[AR FHK(2)  Am72(-0.5)|JEER {A3F(3)  4m50(-0.D) jE K(3) 4m49(+0.2)|Z=JF B5(1)  Am31(-0.5) £ MiAib(2)  Am21(-0.7)|FfE #EQ)  4m05(-0.7)
PUA SHEIR PUA PUA ESA] =1 %% %%
sA12H o= Bk el YPIBE)  10m45(+0.2)] i K@) 9m55(+0.2)[JEE (h3F(3)  9m13(-0.3)[Imik AR 9mOL(+0.3)[ BN MEdib(2)  8m98(-1.8)
PUA RN PUA PAUA S
5A120|  &FHEAEG.000k) W HRE(©2) Iml2[fFE =30 8m86 [ HE3) 6m62| =% ¥EHk(1) 6m61 [E Fh{k(2) 6m61 [BFrh B (3) 6m52 YR EA(2) 6m27 (8 #(2) 5m93
Eee ] RN PYA ST E PAUA SHTEE YA JIlH
SALE| M .000ke) W 2 (2) 32m64 | #3E BEIIN(2) 25m83 [ fLHal #hEL(D) 23m84| B B3E:(3) 22m13| % E3R0) 21m99|FIA A EEB) 21m90 | ke HER) 19m76 (4511 BE(1) 17m68
S %&%*};ﬁ S SR ERiN 2% % FAYA
- N A KE3) 20m76| =F A1) 19m86 £ )1l F23(2) 17m30 (P38 #£2(©2) 16m23 [FTAH: S (3) 14m62
PITIOR) Jefrerme OO0 |y op i Fy7 PNl FAYF
sA108 7D E6000) T ERQ) 30mI3|#IA AHEEG) 29m28 [ fiHjal #hEL(1) 26m86 | PIAHE KMHEE3) 24mO8 |75 E N 23mdl |2 #(2) 21m56 [P 2£(2) 18m34|EJF Hiz(1) 16m77
PYA — %P’% {%iiﬁk YA RS JIa RS PFUA
- X . HE BEEG) 8:02.36| 7 HE (2 8:16.75|FHE HIHk2) 8:56.56| IR Z.7E(2) 9:11.03
U] HrmSC e AR, 2t 2t
RO 32548 [ HiE(D 27755 T4 Lo (2) 27055 28T (1) 22345,
5/11H PAP— ESe =iy B SV WY A
~12H B 17.74(-1.0)-1m45-Tm67-29.84(-3.7) [19.13(-1.0)-1m45-5m78-30.01(-3.7) [19.25(-1.0)-1m30-5m78-29.66(-3.7) [20.66(~1.0)-1m21-5m15-32.34(-3.7)
4m20(-0.8)-26m20-2:42.79 4m27(-1.3)-19m20-2:51.53 4m22(-0.1)-20m07-2:44.99 4m27(+0.2)-20m51-2:51.85
P PYA 96 4 | 23 AL 9L S 9045 [ %% i B Al REEY 1058 | S5 2 85 [ SR bR TR
A L7 4—IVE PYA 122 50| S HEPE 2 VAES 275 | kP 225 | IR 1958 | S E b RS e I 45
ZIRE FAUA 2235 [y EERL 118 & 934 [ % 9L | HE [ e Bl 32 | SRR AR 14ni| &%) 1048

JLI GRoK & e sk




